104 Suction bar KKRCHER

Professional \ Floor cleaner \ Ride-on \ BR 900 BAT PACK O.SB. *EU \ Manual BR 900 BAT \ Spare parts list BR 900 BAT \ Suction mechanism \ Suction bar

Lapal/2



104 Suction bar

Professional \ Floor cleaner \ Ride-on \ BR 900 BAT PACK O.SB. *EU \ Manual BR 900 BAT \ Spare parts list BR 900 BAT \ Suction mechanism \ Suction bar

KARCHER

POS
11
15
12
18

13
19

16

17

21

10

20
14

Preces Nr.
5.017-136.0
5.105-245.0
5.031-465.0
5.031-482.0
6.321-069.0
7.304-397.0
7.311-422.0
4.042-871.0
5.401-256.0
5.401-255.0
7.312-004.0
6.435-401.0
6.273-182.0
7.306-199.0
6.321-243.0
6.321-054.0

4.777-038.0
5.029-469.0
5.515-096.0
7.312-017.0
7.312-026.0

Apraksts

Angle

Axle

End piece left

End piece right

Handhold M6x20

Hexagonal head screw M8x20-8.8-A2E ISO
Hexagon nut M 6-1.4305 ISO 10511
Holder roller

Insert curved

Insert curved suction bar BR/BD1000
Paplaksne 8 -200HV-A3E ISO 7090
Ritenis D54

Rubber lip kit PU BR 1000

Screw M 6x50-A2-70 (IN6RD)

Star grip stainless steel D50x48
Star handle M8X16

Stockpiling discontinued

Suction nozzle

Tube

Veltnitis

wascher

Washer 6-A2 1SO 7090

Lapa2/2

Skaits
2.000
2.000
1.000
1.000
2.000
2.000
2.000
2.000
2.000
2.000
4.000
2.000
1.000
2.000
2.000
2.000
1.000
1.000
2.000
2.000
2.000
4.000

Vieniba
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

Seérijas numurs no

0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000

Serijas numurs lidz

0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000


http://www.tcpdf.org

